1
| Time: 35 Minutes | Paper Math 6 (T-1) |  Total Marks: 25 |
| 5th Month, 4th Week, 6th Day | Revision Test (Domain 4) |
Q.1. Choose the correct options. 1x13=13) - /hfl‘;’"{hfmi:ﬁ"/)
(i) How many types of symmetry? ?ug,'tﬁldy Jfl‘f’.
(@) 2 () 3 () 4 @ 5
(i) Circulate table is the example of _ symmetry.
e JESSE_ Ko
(a)| Reflective 0/6 (b) | Rotational Ljn”)/;
(¢) | Transversal J'Dﬂ (/ |(d)| Botha&b Ufnbusla

?‘ag}a&’/u’ u:‘/;g}fJ“ 1,

(iii) Which of the following is the 3-D shape?

(a) [ triangle &4 | (b)| line B (@) |cube o |(@)|square &,

-’

(iv) Which of the following is 2-D shape? e FUmisle vt itn

(a) |cone bs Z| (b) | cube J (¢) | cuboid LL/“/ (d) |square @/

(v) Perpendicular lines always intersect each other at:

2 (‘f;{ PPN TN 11
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(ix) Two lines that never intersect each other at any point are called lines:

ugZ_UﬂP U /':Cb? Jg'/g /»..gﬁbﬁu

perpendicular$xf | (b intersectingd’ | (¢) | parallel $J/5* | (d) |transversal J//r"l/b

N’
N’

(a

-’

(x) A line has end points:

:ugLn:./ Ll

(a) | one VQ (b)| two 23 | (¢) | three UL: (d) | No u’f@/

(xi) The basic angle in the construction of geometry is:

:c"_,ﬂ]d)yuﬂ'ct:dﬁ’é:dﬁ)f

0 [0} 0 o

(a) 30 (b) 45 © 60 () 75

(xii) The sum of exterior angles of a triangle is always equal to:

:c‘;b‘n/.'/.cc :ﬁ:ﬁ(ug;li&%éw

(4] (4] (4] (4]

(a) 90 (b) 270 © 180 (d) 360

(xiii) In a right angles triangle the largest side is:

:‘wa é’lz;%xw,,mm

(@)| base 4G |(b)| line segment | (c) [perpendicularss? | (d) | hypotenuse s
328

(a) 20° ) 45° (©) 90° (d) 120°

(vi) Line that divides an object into two indentical pieces is called:

:‘at’lkv(z./(lm D.’: wﬁé.{w’ﬁg Lflngfl

(@) | perpendicular line S | (b)| mirror line B,
(¢)| segment 22 | @) ray e
(vii)A cuboid has ______faces. i S
(a) 6 (b) 12 () 8 @ 4

(viii) A line that passes through two or more parallel lines at distinct points is

called:
V4 4'.(;1(./?2 uﬂj 10 lee b 3150 s 3L 2982 1309
(a) |hypotenuse s | (b) | altitude &1 | (c) |perpendicular$* | (d) |transversal J7+Lf
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Q.2. Answer the following questions: (4x2=8)
(i) Construct the given angles using compass.
(@ 75° (b) 105°
(ii) Draw a shape with exactly 6 lines of symmetry.
Pl nSFg6E
"‘glﬂf &
-u,:f’{iﬂl'gdrﬂ/’é‘:d,)

(iii) What is symmetry?

(iv) Bisect the given angle.

Y
55"
o X
Q.3. Draw a shape with exactly 6 order of rotation. (1x4=4)

-Lf,b:yugdb%?]&/6






